Quotient Property of Exponents
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Quotient to a Power Property
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What you will learn about:
Divisioin of Polynomials
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Divide 876 by 25 A5 876

Find the quotient:

(x*+9x +20) + (x +5)

X +4

X415 ) X;’r‘lx tto

s 2{ FSX
Yx +a0

- Yx+ao

O
{2:(3—5;t‘—1<}).;('.1:'—32l T
X

Y-3) A% ~Sx-5
6 Ax = lbx

X=X

() X ->

O

iy

(232 — 3x — 20) + (x — 4)
AX 4S
Y-4) 2% dx-20
) st ~8x
$x-20
G




-1~

\
X ax42>+><+1
>(+‘|\><’ >( X +Y

() X “HxC
-ax S+
sy =X
'5}( '{“1
O 3IXED
(x? + 542 +8x+6)—[x+2) 0 1
X +35x¢+42 + vz
Yrz ) X7#5xtiex ¥ 6
(D Yy
'wii—ax
() D% X
T
L-}Mﬁi_

(2x? 4 8x* +x—8),:(x+l)
2x"4+6x- S
X""\ 27y 64k ~B
= 'be f?x"
e x*+x
()t Fax
-§x-%
(1-5¥ -5

ol

o

(= +x+d)+(x+1)

z.
AX Fly-g

(= +51 22+ (x+2)
x> -2x"~+‘bx ]

Xi1) x +ox -X +6x-2

) X rex’
—ax -y

14|Page

(> —ZxCax
'Sx:‘_ 16X
Sl ol
-¥ - A
e
@)




